product overview



Find your flair with Edelman trim. Add that essential custom finishing touch to a sofa, pillow, rug, or more. Though our trim collection includes a variety of in-stock styles and colors, custom orders in your choice of leathers and hues are always welcomed.

CUSTOM

Customs available with half hide minimum as yield provides.

USE

Upholstery detail for pillows, rugs, or furniture.

STOCK

Sold by the yard, 1 yard minimum, in $\frac{1}{4}$ yard increments.

UPHOLSTERY

Most Edelman leathers are available to specify.

LEAD TIME

1-2 weeks from receipt of leather at factory for non-braided products.4-5 weeks from receipt of lather at factory for braided products.



styles

BETWIXT - ATT0320 CAPPUCCINO



Size: 9 mm medium upholstery welt cord

Product: Cavallini, Cappuccino (C20)Yield: 1.4 yards per sf; 25 sf = 35 yards

Notes: The Betwixt product in Cavallini Cappuccino is a special welt.

It must be handmade due to the thickness of the fur hides. Because it is hand-sewn, you will notice where the transition occurs between the strips. All others are held together with glue and heat press. Cavallini is not recommended on any

other product.

BOUNDARY — ATTO228 CAPPUCCINO



Size: 6 mm small upholstery welt cordProduct: Royal Suede, Cappuccino (RS28)Yield: 1.4 yards per sf; 25 sf = 35 yards

BOUNDARY — ATTO2E1 PALESTONE



Size: 6 mm small upholstery welt cord

Product: Dream Cow Earth, Palestone (DRC-E1)

Yield: 1.4 yards per sf; 25 sf = 35 yards

BOUNDARY - ATTO201 PITCH BROWN



Size: 6 mm small upholstery welt cord

Product: All Grain, Pitch Brown (AG01)

Yield: 1.4 yards per sf; 25 sf = 35 yards



styles

BOUNDARY - ATTO276 QUAIL



Size: 6 mm small upholstery welt cord

Product: Royal Hide, Quail (RH76)

Yield: 1.4 yards per sf; 25 sf = 35 yards

BOUNDARY - ATTO215 WHISKEY



Size: 6 mm small upholstery welt cord

Product: All Grain, Whiskey (AG15)

Yield: 1.4 yards per sf; 25 sf = 35 yards

RAPUNZEL - ATTO440B BLACK PEARL



Size: 5 mm 4-strand double fold tape braid cording

Product: Napoli, Black Pearl (N40)

Yield: 1.23 yards per sf; 25 sf = 30.75 yards

RAPUNZEL - ATTO420 BROWNIE



Size: 5 mm 4-strand double fold tape braid cording

Product: Dream Cow, Brownie (DRC20)Yield: 1.23 yards per sf; 25 sf = 30.75 yards



styles

RAPUNZEL - ATTO403 CLOUD



Size: 5 mm 4-strand double fold tape braid cording

Product: All Grain, Cloud (AG03)

Yield: 1.23 yards per sf; 25 sf = 30.75 yards

RAPUNZEL - ATTO404 MOTHER OF PEARL



Size: 5 mm 4-strand double fold tape braid cording
Product: Luster Leather, Mother of Pearl (LL0004)
Yield: 1.23 yards per sf; 25 sf = 30.75 yards

RUSTICO - ATT0502 WHISKEY



Size: 6 mm 4-strand braid cording with burnished edge

Product: Napoli, Whiskey (NO2)

Yield: 1.4 yards per sf; 25 sf = 35 yards

Notes: Napoli is recommended for Rustico products as the vegetable

tannage works better with the burnished edge.

SHADOW - ATTO119 BLACK



Size: 5 mm even double micro upholstery welt cord

Product: Dream Cow, Black (DRC19)

Yield: 0.7 yards per sf; 25 sf = 17.5 yards



styles

SHADOW - ATTO124 POLAR BEAR



Size: 5 mm even double micro upholstery welt cord

Product: Royal Hide, Polar Bear (RH24)Yield: 0.7 yards per sf; 25 sf = 17.5 yards

SHADOW - ATTO1E2 SEDIMENT



Size: 5 mm even double micro upholstery welt cord

Product: Dream Cow Earth, Sediment (DRC-E2)

Yield: 0.7 yards per sf; 25 sf = 17.5 yards

